D (] B A
REV. IR. | DATE UPDATE_DESCRIPTION REANRK SGN__| APPROVER
1 2009.8.27 1.M2.5*%4—>through holes ; 2.Add dimension Nina
8, 2| 2000.10.09 Add "E"f632 4mm _depth(2009.10.0_e-mai) Nina
- ~
A <
= ] o
[T 1 [] T =
q ™) 114
© < | = (86.36) _
aon 30 21.44 _ /112 [28 2144 9
24 - B ee?
T REAY
© @ © O = SO r o >
,—25*25"0.5t | ! L -
/| TM600 K=6 O¢ | O A
10"10"0.'16 A ! A
GR-Hm i i
- 20*15*0.5¢ h b -
GR-Hm K=6 N :
o~
S5 o ololR L —— 3
0 EL3 (S J © ! !
= ; © | :
© N~ L - |G J <
z 8 M2.5
«© 'i’% .
© ¥ A A N
3 v : £ 1
© -
) ) 2 . @ 24.7 = © ik
o © s OB O o =
e
30.54 20 0% ‘R 6
.y Q“/ A Threaded #6—32
: Thread #632 deep=4.0
3
N
o
|_| [ T |_| 1] = - = - I -
= — [TE] ART NAME PART NO. |01/ WATERAL(SPEC) | REWARK
MATERIALSPEC.) QUANTITY /SET
AL 6063-T5 1 @DIAMOND SYSTEMS
Note: NISH ) RAWER N 09.08.05
1.Accessory kit: anodizing treatment:Netral ina ESCRIPTION
ASCREW (Head—BI)M2.5¥12—4 PCS S T S N 6884012 HEAT SINK
B.SCREW (Head—BI)M2.5*6—1 PCS ~8  1003]005/0101020] ppegsr — KCAE  PART NO. RAWING NO.
C.Spring Washers—M2.6*5pcs B vt Bl Bt e Nina 14 6884012 Heat Sink
2.Al sharp edges to be rounded 80~250 | 0.12]0.20] 0.40 | 0.50 PROVER R FILE NAVE ODEL NO.
250~ | 0.20] 0.30] 050 0.60 Nina mm !
D C | B | A




